

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 4/29/2025 6:52:32 AM

			General De	etails					
Parcel ID:	010-2080-00	050							
Document:	Torrens - 105	50684.0							
Document Date:	11/01/2021								
		Leç	gal Description	on Details					
Plat Name:	HARRISON	S DIVISION OF I	DULUTH						
Section	т	ownship	F	Range	Lo	ot	Block		
- Description:		- RU 12 INC THAT FERLING DIVISI		TED 27TH AVE	- EAST ADJACEN	NT TO LOT 9 AND I	001 NCLUDING LOT		
			Taxpayer D	etails					
Faxpayer Name	HARRISON I	AND CO LLC							
and Address:	PO BOX 314	4							
	DULUTH MN	55803							
			Owner De	tails					
Owner Name	HARRISON I	AND CO LLC							
Owner Name	NORTH SHO	RE LAND COM	PANY LLC						
		Paya	able 2025 Tax	<b>Summary</b>					
	2025 - Net Tax				\$33,228.00				
	pecial Assessme	al Assessments \$0.00							
	2025 -	Total Tax &	Special Asse	ssments	\$33,228.0	0			
		Curren	t Tax Due (as	s of 4/28/2025	5)				
Due N	lay 15		Due Octol	ber 15		Total Due	1		
2025 - 1st Half Tax	\$16,614.0	0 2025 - 21	nd Half Tax	\$16,61	14.00 2025 -	1st Half Tax Due	\$16,614.00		
2025 - 1st Half Tax Pa	Half Tax Paid \$0.00 2025 - 2nd Half Tax Paid		\$0.00 2025 -		2nd Half Tax Due	\$16,614.00			
2025 - 1st Half Due	\$16,614.0	0 2025 - 21	nd Half Due	\$16,61	4.00 2025 -	Total Due	\$33,228.00		
			Parcel Det	tails					
Property Address:	2617 E 3RD	ST, DULUTH MI	J						
School District:	709								
Tax Increment District:	-								
Property/Homesteader:	-								
			nt Details (20	-	•				
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
1	Homestead	\$105,200	\$1,000,700	\$1,105,900	\$0	\$0	-		
Total		\$105,200	\$1,000,700	\$1,105,900	\$0	\$0	21368		



## PROPERTY DETAILS REPORT

## St. Louis County, Minnesota



## Date of Report: 4/29/2025 6:52:32 AM

			l and D	staile		
	0.00		Land De	etalis		
Deeded Acres:	0.00					
Waterfront:	-					
Water Front Feet:	0.00					
Nater Code & Desc:	P - PUBLIC					
Gas Code & Desc:	-					
Sewer Code & Desc:	P - PUBLIC					
_ot Width:	200.00					
_ot Depth:	150.00					
The dimensions shown are n https://apps.stlouiscountymr	not guaranteed to be su n.gov/webPlatsIframe/fr	rvey quality. A mPlatStatPop	Additional lot Up.aspx. If th	information can b	e found at tions, please email Propert	/Tax@stlouiscountymn.gov
		Improve	ment 1 De	etails (Res bn	b)	
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	, Basement Finish	Style Code & Desc
HOUSE	1908	2,20		5,112	AVG Quality / 638 Ft <sup>2</sup>	•
Segment	Story	Width	Length	Area	Found	
BAS	1	9	12	108	BASEN	
BAS	1	9 11	12	108	BASEN	
				-	_	
BAS	2.5	0	0	1,940	BASEN	
OP	0	18	60	1,080	FOUND	-
Bath Count	Bedroom Cou		Room C	ount	Fireplace Count	HVAC
5+ BATHS	5+ BEDROOI	N	-		2	C&AIR_COND, GAS
		Improv	vement 2	Details (Mob)		
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
STORAGE BUILDING	0	32	0	480	-	- -
Segment	Story	Width	Length	Area	Found	ation
BAS	1.5	16	20	320	FLOATIN	G SLAB
	-				-	
		-		Details (Res)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
HOUSE	0	75	0	1,313	-	EXB - EXP BUNGLV
Segment	Story	Width	Length	Area	Found	ation
BAS	1.7	25	30	750	FOUND	ATION
DK	0	12	16	192	POST ON	GROUND
Bath Count	Bedroom Cou	nt	Room C	ount	Fireplace Count	HVAC
3.0 BATHS	3 BEDROOM	S	-		-	C&AIR_COND, GAS
		Impro	vement 4	Details (Zbo)		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
GAZEBO	0	11		113	-	
Segment	Story	Width	Length	Area	Found	ation
BAS	1	0	0	113	POST ON	
	I	-	-		103100	
		-		5 Details		
	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
Improvement Type						
Improvement Type PARKING LOT	0	3,00	00	3,000	-	C - CONCRETE
	0 Story	3,00 Width	00 Length	3,000 Area	- Found	



St. Louis County, Minnesota



		Imp	provement 6 D	etails					
Improvement Type Year Built		Main Fl	Main Floor Ft <sup>2</sup> Gross		Basement Finish	Style	Code & Desc.		
GAZEBO	0	8	)	80	-		-		
Segme	nt Stor	Story Width		Area	Foundation				
BAS	0	8	10	80	POST ON GROUND				
		Improveme	ent 7 Details (M	IETAL/PLAS	)				
Improvement Typ	e Year Built	Main Fl	oor Ft <sup>2</sup> Gros	s Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style	Code & Desc.		
STORAGE BUILDIN	STORAGE BUILDING 0		168 1		-		-		
Segme	nt Stor	y Width	Length	Area	Foundation				
BAS	BAS 0		8	48	POST ON GROUND				
BAS	0	10	12	120	POST ON GROUND				
	:	Sales Reported	to the St. Lou	is County Au	ıditor				
Sa	le Date		Purchase Price		CR	CRV Number			
11/2021			\$1,350,500 (This is part of a multi parcel sale.			247101			
30	3/2007	\$1,236,000	(This is part of a m	ulti parcel sale.)		178765			
01	1/2000		This is part of a mu			132271			
		A	ssessment His	story					
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
2024 Payable 2025	233	\$105,200	\$1,000,700	\$1,105,9		\$0	-		
	Total	\$105,200	\$1,000,700	\$1,105,9	00 \$0	\$0	21,368.00		
	233	\$85,000	\$393,300	\$478,30	0 \$0	\$0	-		
2023 Payable 2024	233	\$5,400	\$57,300	\$62,700	D \$0	\$0	-		
	233	\$14,900	\$427,600	\$442,50	0 \$0	\$0	-		
	Total	\$105,300	\$878,200	\$983,50	0 \$0	\$0	18,920.00		
2022 Payable 2023	204	\$85,000	\$393,300	\$478,30	0 \$0	\$0	-		
	233	\$5,400	\$57,300	\$62,700	D \$0	\$0	-		
	237	\$14,900	\$427,600	\$442,50	0 \$0	\$0	-		
	Total	\$105,300	\$878,200	\$983,50	0 \$0	\$0	11,255.00		
2021 Payable 2022	201	\$85,000	\$393,300	\$478,30	0 \$0	\$0	-		
	233	\$5,400	\$57,300	\$62,700	D \$0	\$0	-		
	237	\$14,900	\$427,600	\$442,50	0 \$0	\$0	-		
	Total	\$105,300	\$878,200	\$983,50	0 \$0	\$0	11,255.00		
		-	Tax Detail Hist	ory		1			
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Lar	Taxable Bui nd MV MV		al Taxable MV		
2024			\$105,30			\$983,500			
2023	\$16,595.00	\$25.00	\$16,620.00	\$105,30	00 \$878,20	00	\$983,500		
2022	\$18,229.00	\$25.00	\$18,254.00	\$105,30	00 \$878,20	00	\$983,500		







Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.